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1	Introduction
[bookmark: _Hlk55112831]This paper provides summary of discussions at RAN#110-e on:
CB: # 1015_SONMDT_L2
-  Packet delay calculation when CU-UP and DU are not split
 (E/// - moderator)


2	For the Chairman’s Notes 
Summary after first round of discussions:
3 companies believe that there is a need to LS RAN2 to indicate that, for cases where CU-UP and DU are not split, the RAN part of packet delay excludes the F1-U delay.
2 companies believe that the F1-U delay in such cases should be set to zero. However, if the F1-U is not present, would it be correct to set an F1-U delay equal to zero?
2 companies believe that the issue has been clarified already in TS38.314. However, 38.314 describe the case of non CU-DU split nodes, while the case in question is where gNB-DU and gNB-CU-UP are not split, but gNB-CU-CP is split
Proposed for further discussion: 
If DU and CU-UP are non split and the F1-U is not present, is it correct to set the F1-U delay to zero?
Is the text in 38.314 clear enough when stating that “For non CU-DU split case, RAN part of packet delay excludes the delay at FI-U interface, i.e. D2.3 and D3.”, namely can this description also cover the case where CU-UP and DU are not split but the CU-CP is split?
[bookmark: _GoBack]Can we agree to send an LS to RAN2 to clarify this issue?
3	Discussion
In [1] it was clarified that deployment scenarios in a split RAN architecture may consist also of cases where the gNB-CU-UP and the gNB-DU are non-split, namely they consist of a single node. These are typically cases where a local breakout of UP traffic is needed. In these cases, the definition of the RAN Part of packet delays specified in TS38.314 are incorrect as they mandate the reporting of an F1-U delay, which in this case would be in-existent. IT needs therefore to be specified that in such deployment cases the F1-U delay is not included. 

Companies are invited to provide their view on the following proposal: 
It is proposed to clarify that for the cases where CU-UP and DU are not split, the RAN part of packet delay excludes the F1-U delay and to send an LS to RAN2 stating that an update of the packet delay specification in TS38.314 is needed, so that it is clarified that for cases where CU-UP and DU are not split, the RAN part of packet delay excludes the F1-U delay and that such component can only be present in CU-UP – DU split cases

	Company
	Comment

	Ericsson
	Agree to the proposal

	Huawei
	No strong view. But shouldn’t this be done by implementation? The collocated DU and CU-UP will know the collocation situation and set the F1 part delay to zero.
Or company can contribute in RAN2 directly?

	ZTE
	Similar view as Huawei. We don't think this clarification is necessary. If UP is close to DU or at DU, F1-u delay can still present, but the value is zero. In addition, is this issue belong to RAN2 scope?

	Nokia
	It may be cleaner to clarify this from RAN3 side, so we support to send an LS to RAN2.

	Qualcomm
	Agree to the proposal

	CMCC
	It is quite straightforward for non-split case, F1-U delay will not be calculated. But has it been clarified in 38.314? Since there is a sentence in 
[bookmark: _Toc43234905][bookmark: _Toc43242697][bookmark: _Toc46328563]4.2.1.2.1	General
For non CU-DU split case, RAN part of packet delay excludes the delay at FI-U interface, i.e. D2.3 and D3.
Is it non CU-UP – DU split case has been covered by non CU-DU split case? 
Is the LS really needed?

	Samsung
	Agree with CMCC

	Ericsson
	Reply to CMCC: in several places in TS38.314 it is specified that “For non CU-DU split case, RAN part of packet delay excludes the delay at FI-U interface, i.e. D2.3 and D3.”. this leaves confusion regarding the cases where gNB-DU and gNB-CU-UP are not split, but gNB-CU-CP is split. 
Reply to Huawei and ZTE: Note that in these cases of non split gNB-DU/gNB-CU-UP the F1-U delay should not be zero, but it should be absent. Presence of an F1-U delay value implies there is an F1-U, when this interface is not present if gNB-DU and gNB-CU are non split.



Summary after first round of discussions:
3 companies believe that there is a need to LS RAN2 to indicate that, for cases where CU-UP and DU are not split, the RAN part of packet delay excludes the F1-U delay.
2 companies believe that the F1-U delay in such cases should be set to zero. However, if the F1-U is not present, would it be correct to set an F1-U delay equal to zero?
2 companies believe that the issue has been clarified already in TS38.314. However, 38.314 describe the case of non CU-DU split nodes, while the case in question is where gNB-DU and gNB-CU-UP are not split, but gNB-CU-CP is split
Proposed for further discussion: 
If DU and CU-UP are non split and the F1-U is not present, is it correct to set the F1-U delay to zero?
Is the text in 38.314 clear enough when stating that “For non CU-DU split case, RAN part of packet delay excludes the delay at FI-U interface, i.e. D2.3 and D3.”, namely can this description also cover the case where CU-UP and DU are not split but the CU-CP is split?
4	Conclusion, Recommendations [if needed]
If needed
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